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01 A& HI 472,597 1,000,000 A 527,403
OHAZMAIXZYIAI (S2I~2242H) 472,597
2 238,000
Al 234,597
03 AlE 2 THHI 3,403 6,300 N2,897
OFAZAMAIIXZHIALY S
472,597,000 * 0.72/100 3,403
D ENUHCHALZE E 2B L DAL 1,820,000 1,000,000 820,000
= 910,000
Al 910,000
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= 910,000
Al 910,000
01 A& HI 1,813,471 993,739 819,732
DE~HEHALZE S 2 & T A DAL 1,813,471
= 910,000
Al 903,471
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Obtsot=HMcalAlE 2l
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02 =224l 2,920 3,600 A 680
ObtEdt=XelAld M3
80,000& = 24 * 128 1,920
Obtsot=HMelAlE SN2l 1,000
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= 3,700
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OZM o LSAIEE2 24 100,000& * 100S 10,000
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337,250,000& * 0.72/100 2,429
BHS AP (AL DY) 369,451 375,778 £6,327
ol 2| 324,847 329,442 AN 4,595
ol 2 A 324,847 329,442 AN 4,595
101 @1 21| 324,847 329,442 A4 595
03 RIAHAEZZRE 324,847 329,442 AN4,595
=22 2 267,555
PR = 50,030 * 9Y x 2502 112,568
SENI0 =] 112,568,000& = 4/12 37,523
cHIR=F Y 50,030 * 9Y x 20¢ 9,006
o N2 ELE
9,381& * 9Y = 20A2+ x 12& 20,263
ocwsELH| 80,000& » 9% « 12& 8,640
oREZ2RY 40,0008 * 9Y¥ x 12& 4,320
ocxdIRY
75,0453 * 9H x 3 * 12& 24,315
oxFaY 50,0303 » 9Y « 52 23,415
o JIit 2 112,568,000& = 10/100 11,257
ocH&AEF Y| 400,000 = 9H = 23] 7,200
o X RI&H| 258,507,000 * 3.5/100 9,048
Ozx==2d 1= 200,000& * 9Y 1,800
Ox==2&d Z&H| 7,000& * 99 » 7 x 12& 5,292
OME02A)ISKHe 22X B 50,200
oJlEa2 45,6003 = 29 x 250 22,800
SRR 22,800,000& = 4/12 7,600
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WHEHH K= 818,917 2,932, A2,113,387
&2 567
Al 818,350
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